French Horn (F) 1

Treemonisha

1. Overture

S. Joplin (arr. J. Rozemond)
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French Horn (F) 1

E | A tempo :
82 1. rit. 2.
A ‘ | 3 Iy it. |2,
)7 4 | |
@ 2 — RE = - — = = =
N~ s T —r
o P ~— opt. cut
— mf= to F
91 K 14
o) | | | | | | | . A A
)7 A | | [ | | | | | N [ )
2 — | o 1—J 1 1% - — = >
ANV ¥ o = 4_
Q) bl
mf
Allegretto Tempo I
112
A 3
Y 6D N |
p ] M| ] — o
:@__ P N—- ) I VY
Al < | s o T
Y T~
S mf >
H
Meno mosso
120 N
f L —4/ i i I f
o —— m v o7 i m— ~ 7 -
Y o} Y ® 1T x® ®
J T B b
S
139 I |Presto 1. 2.
A 2 —~bhe- —~be- —_—
)7 A Py O O VN PR
{es € — F F — — . — =
ANIV4 | I |
PY) ==
S
141 4 J
[a} | | | | ,
)7 A - i | | | | I
{y —P— et s
Q) - — = H ~—
v
148 poco rall......
f) /)
ﬂ]l o \' - -
N\ 1\ N\ N\ 1 PN
] 1L )] ) A =
~ b he'
Larghetto rit. poco a poco
153 1. 2.
A 3 | 4 | 3 1 ~
)7 A N oy (3
(7S —— — (@ f— = =
o) : ——




French Horn (F) 1

Q
pgl )
Q
=
=)
-
o]
)

-l
™~
™~
N

o
-l g
M~
Q U
<+
“ I~
m 9]
TS
Q
2
S ™
d=0¢
R wd
~

() )
y_~]

.

— mf

N | Allegretto Tempo I

182

he

Meno mosso

188

.

cresc. poco a poco

opt. cut|?

to P

.

o

io¥o)

1

-

-

206

cresc. poco a poco

p

Q | Pitt mosso

218

| |
o o o

he

accel.

o

b 7®

ba"®

229
5



